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Toret TRTTATY T % ITRAA (V) § A (T) & @19
foeror % # gUiT SFER BT B | EEAl A W
LT B Toh A <t sk H 18 g fopu 7w et o7k

w%agmsﬁﬁﬁwwagm%
T B
A
0 —>T
D %
®) g
@ 2
@ 2

fopelt go1 AT W9 I g@ A e s S
qIgY % gl U (STE) e % qwE R |
Ife gg AT 89 I A8 20 cm 7, d Ga AT
qred <h1 TS B

(1) 12-5cm
(2) 8cm
(3) 13-2cm
(4) 16 cm

TrE a9 W AN STUpsi 1 i WEd HA (rms)
1A gt o IYATSA ¥ TARH L Tehd o foIQ AT
e g St ?

(fean e 2 -

ST o 3T T EIHH (m) = 2:76 x 1026 kg
e R ky = 1-38 x 1023 J K1)

(1) 5016x10*K

(2) 8360x10*K

(3) 2508 x10*K

4) 1254x10*K

A o T T FIATH & = hRAd fRHl 3Tmest

FSHT S5 h1 2&IaT Bidl B
(1) 625%

2) 20%

(3) 26-8%

4) 12:5%

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

éT

(D

(2)

3

4)

NN O N Wb |

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 12-5cm

(2) 8cm
3) 132cm
4) 16cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2:76 x 10726 kg

Boltzmann’s constant kg = 1:38 x 1028 JKh
(1) 5016x10*K
(2) 8360x10*K
(3) 2508x10*K
(4) 1254x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 6:25%

(2) 20%

(3) 268%

4) 125%
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(47 + 4-7) kQ ¥fte & Foreht Seq-gfctgs W, TgaH
= fortu, fafirm auit < g siferd fope 9= & | vl 1
T ST B

(1) e — &0 — s - gTE

(2) W — S — AR — =T T

(3) St — el — ATt — =T T

(4) B —AWh — S — gy

‘v’ FIEH Fiigehi &1 qg=, NEH T &1 gy
R 2, 9vfisen # fa.aneet (emf), ‘B 3 A=l
gfaty, ‘R’ i et S & Taifora B | st 9 ot
g I 8 | 316§ ‘n’ IfaOeehi i Uvd A § gE 9
T gafod foran AT R | A 9t Bt 8 w10 1@
STt ] | ‘0’ BT HAH B

(1 20
2 11
3 10
4) 9

g St Tdies Ufedy ¢ aTet, Svfish # T, ‘o’
TdoH Al (FEa n ufEdt 2) ¥ s 71 el %
Tt b1 U ek g [ AT S 7 | fem
HA-FT % 1 3R n & = TE ey w1 guiar g ?

I :
(D) 1\
O —n
I
(2) 1\
0 —n

I

@ 1
O —>n
I

(4) f
O —n

A carbon resistor of (47 £ 4:7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be
(1) Yellow — Green — Violet — Gold

(2)  Yellow — Violet — Orange — Silver

(8) Violet — Yellow — Orange — Silver

(4) Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 20

(2 1
(3) 10
4 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘1’
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
o T
0] —>n
I
(2) T
0 —n

I

@ 1
O —n
I

4) f
O —n
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8. 3Muaddis 4 I ugrd % foRtt TWaw yss W #1g (8. Unpolarised light is incident from air on a plane
312'&?'?' T A ¥ a2 | TRt fasiw surface of a material of refractive index ‘W. At a
A0 ¢ W Tz T T T g particular angle of incidence 7, it is found that
) 5 | e & @ the reflected and refracted rays are
@_@i RURREN & | Frefefeq perpendicular to each other. Which of the
-1 forshed 38 fearf d @@l 8 2 following options is correct for this situation ?
. . 1
(1) i=sint (—] 1) 1= sin! 1
H 1
(2) elfdid STebreT glelc & 3 e | SIS (2) Reflected light is polarised with its electric
39T & A W?L% vector perpendicular to the plane of
incidence
(3) wEfdd Y™ gfad 7 3R 3o faga @few
ST o ad & GUT=al 8 (3) Reflected light is polarised with its electric
vector parallel to the plane of incidence
(4) i=tan! (lJ 1
M 4) i=tan" (—J
u
9. = faferd q, & = 1 d, 2 mm 2 9. In Young’s double slit experiment the separation
aon forilt @ og A Eff D %I 100 cm W@d fa e d between the slits is 2 mm, the wavelength A of
A = 5896 A < YehTYI kT IUAN ThaT T 2 | T8 9T the light used is 5896 A and distance D between
T 6 fhet Y SIvf SeE 0-20° 2 | @9 (341 e Ic) the screen and slits is 100 cm. It is found that the
I % foru) T 1 g e 5 A 0-91° T angulz.ir width of the fringes is 0-20°. To increase
o 3 e = the fringe angular width to 0-21° (with same A
fe ki & and D) the separation between the slits needs to
(1) 21mm be changed to
2 1-9mm (1) 2:1mm
(2) 1'9mm
3) 1-8mm
(3) 1-8mm
@) 17mm 4) 17mm
10. forelt @it s &R0 <l it A Sferh 10. An astronomical refracting telescope will have
3R i faved 3= _@TIT, Ife 3qH 34'&4?{{7&35 g 6 large angular magnification and high angular
1 ® Eﬁ s i Terd resolution, when it has an objective lens of
(1) large focal length and large diameter
(2) HE g A AR =™ BT 2 ,
(2) large focal length and small diameter
(3) IRt @ ST AT T 2 (3) small focal length and large diameter
(4) HIHH E@ +Y 3R =E BT B (4) small focal length and small diameter
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11.

12.

13.

14.

gIggieH W] i fopelt R e o foRell soiweta
TTferst STt SR IEeHT Hel FoIl okl AT BT B

1 2:-1
(2 1:-1
3 1:1
4 1:-2

S AV = Vo1 (Vg > 0) 3R ZEWE m
w1 F W e PR B - - By |
(B = e > 0) # t = 0 T Jo9 &l 3 | A Jew
# 30 goidgH hI STl alreed o) B, O §WE ¢ W
TEh! STl qeed aelt

D At

foret Weanfea werd 1 srd-amy 10 firme & | =fe
I H TRl Bl H@ 600 B, 1 450 TRl %
fqafed g9 # oM aren ww (e o) &

(1) 30
(2) 10
3 20
4) 15

Se fRel u1g % I8 W AEN 2v, (I v, gl
IR 8) T TR UG BT &, Al Jedtstd gerag i
1 AR A v, 7 | I Aaa fafepon 6 g
TR by, H & I @, q IH T8 H Ie@hid
Wwﬁwéﬂ%@m%wlaﬁ%w

3T &

(1) 4:1
2 1:4
3 1:2
4) 2:1

11.

12.

13.

14.

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 2:-1
2 1:-1
3 1:1
4 1:-2

An electron of mass m with an initial velocity
;/3 =V, /1\ (Vo > 0) enters an electric field
]_*]) =— Eoli\ (Eg = constant > 0) at t = 0. If A, is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

(1) At

@ i (1+ el tj

mVo

_h
[1+ eEo tJ
mVO

@ A

3

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,
nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is

(1) 30
(2) 10
(3) 20
4) 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v{ to vy is

1 4:1
(2 1:4
3 1:2
“4) 2:1
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15. feu mu ufwy smw #, fEw deed (V) 20V,
VBEZOHQHVCE:()%l IB,IcﬁTB%m_ﬁﬁﬁ

(1)
(2)
3)
(4)

20V

Ip =20 uA, Ig=5mA, =250
Ip =25 A, Ig=5mA, =200
Ip =40 uA, Ig =10 mA, =250

Ip =40 uA, Io=5mA, B=125

16. ol p-n |fY SMTE § T B & 9 H qieda

(1)
(2)
3
(4)

p-n G4 & wfede w1 guTiaa & e 2 |
ad 31 Tfale T T a8 |
shaet ooy (Fad) uferier vt wTfard et 2 |

p-n T % THY V — I A0 bl gl shiar
2

17. oz ¥ few u 92 & daiom o ffa Y o femi A efie
B U3 § 9 Yeh oFd {ohaT ST Hehdl &

15. In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, I; and B are given by
20V

(1) Ig=20uA, Ig=5mA, f=250
(2) Ig=25uA, Ig=5mA, B =200
(3) Ig=40uA, Io=10mA, =250

4) Iz=40pA, Io=5mA, p=125

16. In a p-n junction diode, change in temperature
due to heating

(1) does not affect resistance of p-n junction

(2) affects only forward resistance

(38) affects only reverse resistance

(4) affects the overall V — I characteristics of

p-n junction

17. In the combination of the following gates the
output Y can be written in terms of inputs A and

B as
Ae I\ Ae L
Be ( >c % Be [ >c ¥
(1) A.B+A.B (1) A.B+A.B
20 A.B+A.B (20 A.B+A.B
3) A.B 3 A.B
(4 A+B (4 A+B
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18.

19.

20.

21.

# for g o fft mem A A V = Vi A
T W W 7 | R g 3w foRpa-greehe ai @
foeq-aa Qom +y 3@ % W B | q9 W

ferga-grashia Tl o reehid & ared i fe gt
(1) —yfem
2 +zfem
(3) —zfeam
(4) —xTesm

foreh forsm & vered o1 edaie /2 SR fis| o1
30° 2 | fr5w % @ oed® gl H § UH HI Al
et it 1 AT I =R T 2 | g B |
TOST A I ThATT JehTeT W1 his G (U1 ATl I8
T WEfdd g & 9vEr) 3§ 99 W 99 el S,
afe firs W SITaa v 1 A B

(1) 30°

(2) 45°

(3) 60°

(4) IA

Hig T 15 cm B8 g o el sfeda guor &
40cm@mﬁ%%laﬁsaﬁmaﬁaq‘wﬁﬁwﬁ
20 cm TAFARG W fean s, qr gfafars feaht gl
R foreenfua &1 smam ?
(1) 30cm?{thTa5tl'|F
(2) 36cm T H G
3) SOCm?TFT'UT@Z‘g
(4) 36 cm YUl % 9

et Tt T 60 mA T YT YaTEd i W 39 Yh |
T grash feafas St &1 79 25 md B | 39 I
T Yehed B

(1) 1-389H
(2) 13888 H
(3) 0138H
(4) 13-89H

18.

19.

20.

21.

An em wave is propagating in a medium with a
velocity ;)7 = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) -y direction

(2) + z direction

(3) - zdirection

(4) —x direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 30°
(2) 45°
(3) 60°
(4) zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 30 cm towards the mirror

(2) 36 cm away from the mirror

(3) 30 cm away from the mirror

(4) 36 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 1-389H
(2) 13888 H
(3) 0-138H
(4) 13-89H
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22.

23.

24.

25.

HIE g foumreaTer ¥ fordt thEmE du FW H
FeateR fogd-&9 E # 5 & 78 g, h, frar g | o@
fogd-a =1 ufem swfEfda w@d gu sweRt fom
Iohitd L & STt 7 | Rt Siei  fommreen &
At & FeaterR gl h 7 sE i fon <man @ | W
% i ° fofe T ww 1 go O Soieed gia e o
form T T R

(1) 10 7T Afesh

(2) 57T MR

(3) wm

(4) TEE

e Q % foreft fogea wmm ufgemr @i ¢

&% A ITell g <t ufgemisti % i feR-dgd 9o

(1) et & st hl gl % e o STIHHGI
BT 2 |

(2) dfgwsi & o= h1 gl % Washd: AFHAIAT
B 2 |
(3) dfgehralt & oftar i gt W feft T et |

(4) uigehrad & e 1 gt % IeRAET Bl 2 |

forelt Tt fga o1 swa foelt Tt s <t Aferent &
IS 30w o forw fopam e g, forew ary vy
I TraTg 1 GRed! e grn auEiia fem S gehan
21 27°C ¥ 99 W T HI A=E 20 cm 3R
73 cm B W & SHATTG TG 399 B 7 | I @i
foqst <1 smgfr 320 Hz &, @ a1 | & &1 27°C W
ol

(1) 350 m/s
(2) 339 m/s
(3) 330 m/s
(4) 300 m/s

HIs AlcAh Teh HIH! S 9o 6l B U Tehl & 3N
W MEd aleth i Aifd gad &9 § W-HD i
@ g | e feufd @ 5 m gl W 3Ee M H

T 20 m/s2 B | Sl T ITEdehTd &

1) 2s
(2) ms
3) 2ms
4) 1s

22,

23.

24.

25.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) 10 times greater
(2) 5 times greater
(3) smaller

(4) equal

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) proportional to the square root of the
distance between the plates.

(2) linearly proportional to the distance

between the plates.

(3) independent of the distance between the
plates.

(4) inversely proportional to the distance

between the plates.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 350m/s

(2) 339m/s
(3) 330m/s
(4) 300 m/s
A pendulum is hung from the roof of a

sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1) 2s

(2) ms
3) 2ms
(4) 1s
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26.

217.

28.

29.

0-5 kg m™! Ufd 31 TraTs geome i foreft eng i
afast T8 # T Faed a9 | S &fes @ 300
T IV ST 7, T T 2 | 36 B I 380 e
€T JaTted hiehl e Hlehd 8l e S1dT e 36 W
0-25 T ST 1 Frehid &7 Hearer foem #§ & L @l
2 | D¢ @l R wen % foe 39 yerfea um @

(1) 1476 A

(2) 598A

3) 714 A

(4) 11-32A

foret foegq-gress & gl & = sfagrehim uared 6

T Tdch B8 HEATR o 7 | 99 fogd-gres § 9

TETEd 1 Al 8, A 98 B &S ek &7 8 a8t

S ! S gohed & AT B | 3H B I I Teea1d

feufast St uTeq et 8 | TH A % fote, STawe

HE HT B

(1) B8 % verd S ATeTeh T

(2) FrEhE &

(3) faga &

(4) Y@ foga-g 1 for uftad! greasdh & o 3cad
B 8

20 mH T s ITh, 100 pF 1 HIE G q9T 50 Q
1 I3 feqlesh, fa.a1. s (emf), V = 10 sin 314 t
o+ forelt \ra @ ooft o TfSra & | 39 ufwy | wifeq
SR

1 274W
(2) 043 W
3) 079W
4 113W

forelt =1 Pueelt reamiet 1 g gufedt 5 div/mA
3R dleed GaTiedT (T $ehls diced] H 3= Hvf
fagd) 20 div/V 2 | 38 freaier 1 afaty B

(1) 250Q
(2) 25Q
(3) 40Q
(4) 500Q

26.

217.

28.

29.

A metallic rod of mass
0-5 kg m! s lying horizontally on a smooth

inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 1476 A
(2) 598A
3 T7T14A
4 11-32A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational The work

potential energy.

required to do this comes from

(1) the lattice structure of the material of the
rod

(2) the magnetic field
(3) the current source

(4) the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 274 W
(2) 043 W
3 079W
4 113W

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 250Q

(2) 25Q
(3) 40Q
(4) 500Q
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30.

31.

32.

33.

3@ H g9t SgEn S h ¥ ool vy &% sfew
forT 3TaEeT T T T g fUvg, @ AB = D &
FHealer g I Sh-3Neh IU HT 2 | 99 Hag h geft

B

I O

A

(D

2) D
3
(3) 3 D
5
4) 1 D

= fovg, A : (T o™ @), B : (TH daeh JAmhR
FHdt) qA C : (Th JARR Bgl), 6 T@H
geaqE M qen B R R, @9 g 9 o § A9
Tmfufa 21e7 & ufta: o L @ B | 35 formTeEen
M & fau fhu 99 et stevEss wEl (W) & fag
HIF-HT TEY TE 7 2

(1) WB>WA>WC

(2) WA>WB>WC

(3) WC>WB>WA

(4) WA > Wc > WB

TEHE m 1 Th TR Tehl, 4m GFHH < fohet
TR R ek ¥ TEg AT ¥ | HOUE h IvET, Gkl
ekt form e # o ST ® | AR T ek
IR I v 7, 1 T UM (e) T I T

(1 08
(2) 025
3) 05
4) 04

fafafad § 9 991 %29 F@T 8 2
(1) =Y 9 AfeTes Tfd 1 foliy sar 2 |
(2) Tfqe =¥ w1 dw 99 Ao afafsear &

FLHETAT BTl B |
(3) el a¥u gt wNu & % g R |

30.

31.

32.

33.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
l A
(1) ;D
@ D
3) %D
@ 2p

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wg>W,>Wgq
(2) Wuo>Wg>Wgq
3) We>Wg>W,
(4) Wr>We>Wg

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1 08
(2) 025
3 05
(4) 04

Which one of the following statements is
incorrect ?

(1) Frictional force opposes the relative motion.
(2) Limiting value of static friction is directly
proportional to normal reaction.

(3) Rolling friction is smaller than sliding
friction.

(4) @df ENQUT W EQ W ng 61 fomt o wae (4) Coefficient of sliding friction has
B B dimensions of length.
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34.

35.

36.

37.

Hﬁé%ﬁiwmmmq%ﬁmﬁw
foga-aa E %mﬁ%&ﬁmwéﬁi‘m
R A R | Th HhUS o FAUA U A q E &
SR THHT AT 0 H 6 m/s B AT B | IH &0
foea-a 1 foon S M It B | W T H
AT § R I S HHUS ek Tid Hidl Wl g | 0 &
3 THUS & S gl R & 3NEq a7 MW NEq
1 SHATT: B

(1) 1m/s, 3:5m/s

(2) 1m/s, 3m/s

(3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s
M HI 0 o frdl oo 3Md 951 ABC W m

GEIHT T IS sclleh FETHER & 8 | 39 o @l grff
IR HIg ol ‘@’ feam Srar 8 | scfieh bl o9 W R

T & U a 3 0 & o= Gy g
A
2
a
0
C B
(1) a=gcosH
_ 8
@ a=3gn0
3) a= g
cosec O

(4) a=gtan6

firg (2, 0,-3) WaEw@ e F = 41 + 5] — 6k @
=g (2, — 2, — 2) % l@: ITTeEl &M

1) -71-83 —4k

@ -—47-5 -8k

3) -8i -4 -7k

4) —171-43 -8k

Toret B 1 3TUT T Y T o =™ I AT 0-001 em
JEUAH A T W g H | ged Jue oA
5 mm 3R e W &1 A TGH dad § 25 WA

FW R | A T T | = I — 0:004 cm B, T g
ST &l S g

(1) 0-053 cm
(2) 0-525cm
(3) 0521 cm
(4) 0-529 cm

34.

35.

36.

37.

A toy car with charge q moves on a frictionless
horizontal plane surfacg under the influence of_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 1m/s, 3:5m/s

(2) 1m/s, 3m/s

3) 2m/s, 4m/s

(4) 1-5m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘@’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

A
2
a
m
C B
(1) a=gecosH
g
2 =
@ a sin 0
3) a= 2
cosec 0
(4) a=gtan®

- A A A
The moment of the force, F =41 + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
1 -71i-8j -4k
AN A A
(2 -4i-j -8k
AN A A
3) -8i-4j -7k
A A A
(4) -7i-4j) -8k

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0053 cm

(2) 0525 cm

(3) 0521 cm

(4) 0529 cm
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38.

39.

40.

41.

I3 3IF Tl ok A1l | 701 Tmfufa s1e < ufia:
od €9 F O R @ 7 | 39 Tl 1 geqqH THH
T@d gu sEh e # gfg St B | Ma & foe
Frafefaa o @ s vifaes afyr for @ 2

(1) ot afas St

(2) Fgea Al

(3) iUl A

(4) IV Fam

T & IR IR el wean § wfowe ug i et
A, B 3R C W s HArd A K, K 3 K¢ 7 |
AC < 31 ® qen g it feufa S w SB femmgem &

Y ACTR e & | a9

(1) Kg<Ky<Kg
(2) Kp>Kg>K;
3) Kp<Kp<Kg
(4) Kp>K,>Kq

afe & &1 geEmEE 1i0 AT B 91 Wi TeeaTehyul
oo afmmT # 10 T 71, @ FEfafed 8§ sE-a
T T 72

(1) Yot T WA AT I AR HH 8 S |
(2) oxdl W = 3Pk i & ST |

(3) aut I o2 oxelt W rferes el | i |

(4) Y=t W ‘g’ A H IREaH A&l 8T |

TH I AT dAled WG H 7 | @led A H a%q h
TYME TS ot (K,) o a-ane ol TSt S
(K,) +ff gt 3 | Tt 6 faU K, (K, + K,) & 39
Ll

(1) 10:7
(2 5:7
3) 7:10
4) 2:5

38.

39.

40.

41.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Rotational kinetic energy
(2) Moment of inertia
(3) Angular velocity

(4)  Angular momentum

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kg<K,<Kq
(2) Kpy>Kg>Kg
3) K,<Kp<Kg
4 Kg>Ku>Kq

If the mass of the Sun were ten times smaller

and the universal gravitational constant were

ten times larger in magnitude, which of the

following is not correct ?

(1) Time period of a simple pendulum on the
Earth would decrease.

(2) Walking on the ground would become more
difficult.

(3) Raindrops will fall faster.
(4) ‘g’ on the Earth will not change.
A solid sphere is in rolling motion. In rolling

motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

(1) 10:7
(2) 5:7
3 17:10
4) 2:5
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42.

43.

44.

45.

Brsem o 1 g @Y Men fatmaEen @ foref we ga
fiRar 2 | T 91 & SRV A ST 39 BT § |
M & Afqm (efiad) a1 W Iod S H K

frferfad & forerh SR 3§ 2
1
@ 12
3 1
@ 1t

et wformr grr fafefd wifsd P 2 @ @ queeA,
ho W Afehan ot fafefd wdt & 1 o/ Afe @
FHiSUreRT 1 ad gRafdd w fean S 2, few f @@

%xommﬁwwﬁﬁ%ﬁﬁﬁm%,a‘r

35 g fafehita wiferd nP & It 8 | n o1 9 &M

256

(1) 31

(2)

3

oo |

81
256

3 IR T g % o4 § S gl W TRad ot T
F | 98 IR I STIEI-HIE H ATRA A R T AR
H ATTITY-FIC HT &TFA 3A 7 | I FA F AR
Ug AR g H AL H glg S 7, o g AR
# TR # oft 3ot @ 3fg FE % fou fea 3@ i
SATavhdl Bt ?

(4)

(1) 4F
(2) 6F
3) 9F
4 F

M g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g I % T &I 100°C T 99 § giEfda & &
I 54 hell ST Bl I STEYIHRAT B & | AR
3I9F WY HT AFAT 1671 cc 7, d W T H
F=Aeh Sl § qREdd &

1) 42-24J
(2) 2087dJ
(3) 104:3J
(4) 8454J

42.

43.

44.

A small sphere of radius 1’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

(1) r°
(2) r?
3 1
(4) r*

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it
becomes nP. The value of n is

256

(1) a1

(2)

3

o |

81

(4) 556

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 4F
(2) 6F
3) 9F
4 F

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 42-2d

(2) 2087dJ
(3) 104:3J
(4) 8454J
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46.

47.

48.

49.

50.

51.

NIkl § §9h! SR STERATST I Headl g3
EEET R

(1) HNOg, NH,CL, NO, N,

(2) HNOg, NO, NH,CI, N,

(3) HNO,, NO, Ny, NH,CI

(4) NH,CI, N,, NO, HNO;

frafafega @ @ s o= MFg’_ A T T

e g 2

1) B

2 Al

3) Ga

(4) In

uforem oR@ ® wH § Wd ge fHefated § @

HH-H Gg T ST UG Sk ueRE H fREr S

ThaT 8 ?

(1) Mg

(2) Zn

(3) Fe

4) Cu

Frafafad & @ 79 13 & ai & wETfoges Brseneti w1

SHI9-1 HH TE B ?

(1) B<Ga<Al<Tl<In

(2) B<Al<Ga<In<Tl

3) B<Al<In<Ga<Tl

4) B<Ga<Al<In<Tl

el @ fau f=fafea @ @ F-a1 %o o 757

77?

(1) WA & orcmar @ff  oTcHs ARt
FareTd g & |

(2) \eft Srfefierres srfierdss & |

(3) weft ushet TR TR} ST ST § |

(4) FAGH I T SelaeT T80T Tt B |

CIF; & §&=AT § g T ‘Cl W ThHihl I

AR hl T 7

(1) =X

@

3 TH
(4) o=

46.

417.

48.

49.

50.

51.

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNO,, NH,CI, NO, N,
(2) HNO,, NO, NH,CI, N,
(3) HNO,, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

Which one of the following elements is unable to
form MFg' “ion ?

(1) B

(2) Al

3) Ga

(4) In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Mg

(2) Zn

3) Fe

4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Ga<Al<Tl<In

(2) B<Al<Ga<In<Tl

3) B<Al<In<Ga<Tl

4 B<Ga<Al<In<Tl

Which of the following statements is not true for
halogens ?

(1) All but fluorine show positive oxidation
states.

(2) All are oxidizing agents.
(3) All form monobasic oxyacids.

(4) Chlorine has the
enthalpy.

highest electron-gain

In the structure of CIFg, the number of lone pairs
of electrons on central atom ‘Cl’ is

(1) four

(2) two

(3) one

(4) three
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52.

53.

frfafea sl sf@en ¥ g&a 3are P, Q 3R R
aﬁ%ﬂﬁﬁz

IEE]
AICl,
© + CH3CH,CH,Cl ——3 >
() Og
— 2 ,Q+R
(ii) HyO"/A
P Q R
CH(CH,), OH
&) @ CH;CH(OH)CH
CH,CH,CH; CHO  COOH
el eNe
CH,CH,CH; CHO
3) CH,CH, - OH

OH
CH(CHy),
@ @ CH, - CO — CHj

fafafiga # @ S Afe facema s g
77?

(1) s=igeh 370
(2) UHefese
(3) Uftef=
(4) TATSHH

52.

53.

Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous

AIC,
@ + CHzCH,CH,Cl ———=—

@ 0,

P—"—>Q+R
(i1) H3O*/A

P Q R
CH(CHy,), OH
(D @ CH3CH(OH)CH;4
CH,CH,CH; CHO  COOH
HelNeNe
CH,CH,CH;  CHO
3) @ @ CH,CH, - OH
OH
CH(CH,),
@) @ CH; - CO — CHj

Which of the following compounds can form a

zwitterion ?

(1) Benzoic acid
(2) Acetanilide
(3) Aniline

(4) Glycine
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54.

55.

56.

57.

58.

foeieh o1g 19 ATeTHA Tgah!  HeH # Fefafad |

Y HIH-G1 YT HTT B ?

(1) dehclTse T AN 3 3G & |

(2) A fgfsrarcns wa Fafsharcnss gl o Thoeh o
T4 |

(3) ¥ faftm W wgas gEaet % W
HeHAeh EY Bid & |

(4) TTH IEAH HEARA H YN HEEASH AW
B2 |

Vel o1 AR Yoad el WieIm W i W

m-TTgeINfefa ot sAmar 8 =i

(1) vfieams 1 sufeafs # Aggr "y wwn
m-feafa ST 2

(2) ToHREE gfatuma stfufsen § v Ogg
m-Fesept B |

(3) ufcreamyes 1 Sufearfd o reg 15el aqg g
ol m-feafa @ € St 2

(4) ot (Jodt) "em | Uil et emm
& &9 H Bl # |

UfietrE wa vfgeufee o fafiear 8

(1) Ufreufdea ¥ 1 - 4 o999 991 1 - 6 B-§EF 7

(2) U@ d 154 997 dda 1 > 6 B9 7

(3) U d 1 > 4 qF9 q91 1 - 6 o-SYd
H
(4) UfieliE e T AAdE | o R

2:3 g WHifHeh A YT 45 g (T A hl TG
H,S0, ¥ fham am W Icafsia e g w1 KOH

% B¢ Zhsl ¥ TN Il 8 | STP W = gY 3G
1 IR (g H) g

(1) 28

2) 30

3) 14

(4) 44

freafafga & @ wH-H feaEs H Faifus s
a7 ?

(1) BaO

(2) BeO

(3) MgO

(4) CaO

54.

55.

56.

57.

58.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1) Examples are bakelite and melamine.

(2) They are formed from bi- and tri-functional
monomers.

(3) They contain covalent bonds
various linear polymer chains.

between

(4) They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1) In absence of substituents nitro group
always goes to m-position.

(2) In electrophilic substitution
amino group is meta directive.

reactions

(3) In spite of substituents nitro group always
goes to only m-position.

(4) In acidic (strong) medium aniline is present
as anilinium ion.

The difference between amylose and amylopectin

is

(1) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(2) Amylose have
1 — 6 pB-linkage

1—>4 o-linkage and

(3) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(4) Amylose
galactose

is made up of glucose and

A mixture of 2-3 g formic acid and 4'5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1 28
(2) 30
3) 14
4) 44

Which of the following oxides is most acidic in
nature ?

(1) BaO
(2) BeO
(3) MgO
(4) CaO
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59.

60.

61.

62.

IgHS W Yl T Ae fhaneti g | ffifd Arsgem
T HI-H1 HATFEIES HUR IGTH 7g7 8 ?

(1) N,0

(2) NO,

(3) NyOj

4) NO

Hqifies A St Na & 1ffshan e ® o9 B a1 8 der
PCl % |1 SATTHIT HEH Rag C qa 2 | B w6 C
M o are # 3rfufhar HEam W SEYYe $erR U
B2 | A BACHA T &

(1) CyH4CI, CoHg, C,H;OH

(2) CyHsOH, C,H,Cl, CoH;ONa

(3) C,HsOH, CyHg, CoHSCl

(4) C,HsOH, CoH;ONa, C,H,Cl

T i C,H, Freafafea sifufsranett & qoear -

3Cly/ A

Bry/Fe _ 7n/HCl
C,Hg A B C

3G C' 7

(1) 3-5M1-2,4,6-TEFANIIAE
(2)  o-FHIAH

(3)  m-SHEIAE

(4)  p-SHIEEA

BIESIEA (A) S & gfoeamoq gy Afufskn s

eff gregiehre | gitafda grar & fred fom =) @ %
I T 2 | (A) R

(1) CH,- CH,
(2) CH,=CH,
(3) CH=CH
(4) CH,

59.

60.

61.

62.

Which oxide of nitrogen is nmoft a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyO

(2) NOgy

(3) NyOj4

(4) NO

The compound A on treatment with Na gives B,

and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HsCl, CoHg, C,H;0H
(2) C,HsOH, C,HCl, C,H;ONa
(3) C,H5OH, CoHg, CoH,CI

(4) C,H5OH, C,H;ONa, C,H;Cl

The compound C;Hg undergoes the following

reactions :

3ClL,/A Br,/Fe 7n/HCI
2L A 22 B = C

7Hg
The product ‘C’ is

(1) 3-bromo-2,4,6-trichlorotoluene
(2)  o-bromotoluene
(3) m-bromotoluene

(4) p-bromotoluene

(A) reacts
substitution to form an alkyl bromide which by
Wurtz

hydrocarbon containing less than four carbon

Hydrocarbon with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH, - CH,
(2) CH, = CH,
(3) CH=CH
(4) CH,
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63. Tfafgd & @ fpe o1 § 9 ¥ T€ & qwEOe

spz, spz, Sp, Sp ROl ST 1T 8 2
(1) CHy=CH-CH=CH,
(2) CHy=CH-C=CH
(3 HC=C-C=CH

(4) CHy;-CH=CH-CH,

64. f=fafgs 4 9@ w-w1 FEvIRA Haifaes  TowEh
Iufera & 2

NO,
v/ &
NO,

Y H

NO,
®

H

Y

NO,

65. fFfafgs § & wfemwhi % -1 g99 % @ #
-8 T& 7 ? (R = Ufeswha)

(1) -NHy>-OR>-F
(2)
3)
(4)

s

(D
(2)
3)
(4)

o

—-NRy<-OR<-F
-NH; <-OR<-F
—-NRy>-OR>-F

63.

64.

65.

Which of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
6))
(4)

CHy=CH-CH = CH,
CHy=CH-C=CH
HC=C-C=CH
CH3;-CH =CH - CH;

Which of the following carbocations is expected to
be most stable ?

H

i
Q
.

NO,
®
Oy
Oy
®
H

Y

NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NH,;>-OR>-F
(2)
(3)
(4)

v

(D
(2)
(3
4)

s

—-NRy<-OR<-F
-NH,; <-OR<-F
—NRy>-OR>-F
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66. 39 IffsRan

67.

68.

OH O ™Na*
@ + CHClg + NaOH ———> @ CHO
o it Seidgiee 8

o
(1) STEFARMMA oM (CHCy)

®
(2) WitHd g9=E (CHO )

@
(3) SRFANHIS g (CHCly)
(4) eSEFARE (:CCly)

FAFA(TR 3 & FAAAH T ANM0IH FoaH
I Ufcegrss!, hIaHl den J&f do foh Ueehlgianl &
S BId 2 | I8 fohdeh SRl Bt 8 ?

(1) Hraifadicieh 3Tl ol AH SATIH TUME TS
ITed ATHYUT Al b gHT BT 2

(2) HETFaIE 3T % o4 O
(3) 3T=:3MfUareh BEEISH J&F s |
(4) STUATTIF EESH q67 a4 I

T A B A, CgHy(O S foh NaOI (Y i stfufsman
NaOH & &{eh ST M) ¥ 31ffshan sieh aneifires

T arert Hell T8 eaT § |
A R Y W B

1 @— ?H — CH, 3R I,
OH

@ ¢ )-cH,-CH,-OH3mI,
3 HeC— ) CH,-OH 31,

CH,

4) CH, @ OH 3 I,

66.

67.

68.

In the reaction

OH O™ Na*
@ + CHCl, + NaOH ——> @ CHO
the electrophile involved is

[S)
(1) dichloromethyl anion (CHCI;)
@
(2) formyl cation (CHO )
@
(3) dichloromethyl cation (CHCl)
(4) dichlorocarbene (:CCly)
Carboxylic acids have higher boiling points than
aldehydes, ketones and even alcohols of
comparable molecular mass. It is due to their
(1) more extensive association of carboxylic
acid via van der Waals force of attraction

(2) formation of carboxylate ion

(3) formation of intramolecular H-bonding

(4) formation of intermolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

(1) Q_ ?H — CH3 and IZ
OH

@ ¢ ) CH,-CH,-OHand1,
3 HgC— ) CH,-OHand1,

CH,

(4) CHj O— OH and I,
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69.

70.

71.

72.

73.

Hiem I 4 fqu MU arg A @l wiem 11 § for Mo
AR % TN Rk ATEn §  fiemwy den
@g1 "oha w1 Tafdse hifsre

i 1 Hicr 11
a. Co’* i. 8 BM.
b. cr¥t ii. /35 B.M.
c. TFedt iii. 3 B.M.
d.  Ni% iv. /24 BM.
v. 15 BM.
a b c d
1 v i ii iii
2 i ii iii iv
3) iv v ii i
@ i v i ii

Fafafgd § @ SH-a1 I d-d FHH ST § a9
19§l ITIgreched Wi ?

(1) MnO,
(2)  Cry02”
9
3) CrO}
2
4) MnOj
IR e, Fe(CO)5 2
(1) Frergs
(2) THHTH
(3) AqhohgH
4) fohss

HHe [CoCly(en),] GRT JERid FHIEFAAT I THR 2
(1) ST qeTEEdr

(2) SUHEEAISH THEISA!

(3) S EHTEREAT

(4) <o FHETEAr

[Ni(CO),| G I it we graehrr o &
(1) o gdet sarfifa @ e
(2) FISHABE SATHIT Td Tfagraeh
(3) ot auaeht safufa wa gfagrash
(4) FHThE SATUL T STIrehIA

69.

70.

71.

72.

73.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column II
a. Co®* 1. J8 B.M.
b.  Cr3* ii. /35 B.M.
c. TFe3* iii. 3 B.M.
. Ni?t iv. /24 B.M.
v. 15 B.M.
a b c d
1) iv i ii iii
@ i ii iii iv
3 iv v ii i
(4) i v i ii

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) MnO,

(2)  Cry02~
92—

3 €02

4) MnO>"

Iron carbonyl, Fe(CO)jy is

(1) trinuclear
(2) mononuclear
(38) tetranuclear
(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)y] is

(1) Ionization isomerism

(2) Coordination isomerism

(3) Geometrical isomerism

(4) Linkage isomerism

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and paramagnetic
(2) tetrahedral geometry and diamagnetic

(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic
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74.

75.

76.

71.

f=fafiga foe@at = NaOH twd HCL i fig-fim
Hrgdrsli T 3Tl o {90 & a9 mn B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL iVI—O HCI + 100 mL ivI_O NaOH
0 ¥ fohgert pH, 1% SR B8R ?

(1 d

(2) a

3 b
4) c

freafafes @ @ ®9-8 0 W amE A Whed wman
it wedft 2 2

(1) 3T % 3T% GRATY U6 e &g aFl ®
(2) had ATE & TR T

(3) <haet R & A IRATT T

(4) I IRE & AQAY g |

NH,, H,, O, @1 CO, % fou aret arew e
HAM: 4-17, 0-244, 136 T 359 feu ww ¥ |
frafafea & @ =95 f9 gen e @ gfaa & S
77

1) O,

(2) H,

(3) NH,

4) COo,

BaSO, I 298 K W I ¥ faerar 2:42 x 1073 gL~
2 | foretrmn ot (K ) 1 AT &

(fe=m = & BaSO,, %1 WieR go9uH = 233 g mol ™)
(1) 1-08x 104 mo2 L2
(2) 108 x 1072 mol? L2
(3) 1-08x 1071% mol? L2

(4) 1-08x 108 mol2 L2

74.

75.

76.

71.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL iVI_O NaOH

10

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1 d

(2) a
3 b
4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(D

Both magnitude and sign of the charge on

the ion
Size of the ion alone

(2)
3

The magnitude of the charge on the ion
alone

4)

The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4-17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) Oy

(2)
3)
4)
The solubility of BaSO, in water is
2:42x1073 gLl at 298 K. The value of its
solubility product (Ksp) will be

Co,

(Given molar mass of BaSO, =233 g mol )

1-08 x 10" mol® L2

(1)
(2)
3)

4)

1-08 x 102 mol®2 L2

1-:08 x 1079 mo1?2 1.2

1-08 x 10 mol® L2
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78.

79.

80.

81.

fora fearfa & STat & ayupett <t T srftrema 2 2

(1) 1atmTd 273 KW 0-:00224 L e a9 & g
(2) 018 g3 & faQ

(3) 18 mL et & faIg

(4) 10739 I & forg

Tom Hife wd feda e stirfsranatt # adt fafireran 2
(1)  gem wife <t fufsrn o 3cufa fopam < dehan

®; Tgcta =ife <t erfrfspan oot e =& fopam <
Tkl B

(2) | whife s SAffshan i 378-311g (Al W R
Tel &; fgdta whife i srffspan 1 srdd-31my (Al
W R R

(3) yuw wife i Afufspn w1 o SAfirRRs i
argarett W R 7 s g; fgdw il
arfurfspan w1 9 3TfieRies i TTgaret w
HT B

(4) vuH wife i Al &1 o AftERrs i
Trgaratt W At swtar 7; fgda shife < stfefsean
1 a1 AfreRRes i Argaret W A T s
3

CaH,, BeH,, BaH,, § 3T i 1 A 2

(1) BeH, < BaH, < CaH,

(2) CaH, < BeH, < BaH,

(3) BeH, < CaH, < BaH,

(4) BaHl, < BeH, < CaH,

Jra feu U e #, s h STTeiRt StaEen o
it fafiye fa.a1. 9 (emf) AFT T <17 T R

- 182V - 15V
BrOy — BrO3 ——> HBrO

Br <7052V B2 “Thosv
HH-H TS STEHEA & o 8 ?
() Bry
(2) BrO;
(3) BrO;
(4) HBro

78.

79.

80.

81.

In which case is the number of molecules of water
maximum ?

(1) 0-00224 L of water vapours at 1 atm and
273 K

(2) 0-18 g of water
(3) 18 mL of water

4) 1072 mol of water

The correct difference between first- and

second-order reactions is that

(1) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(2) the half-life of a first-order reaction does not
depend on [A]); the halflife of a

second-order reaction does depend on [A],
(3) the rate of a first-order reaction does not
depend on reactant concentrations; the rate

of a second-order reaction does depend on
reactant concentrations

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

Among CaH,, BeH,, BaHl,, the order of ionic
character is

(1) BeH, < BaH, < CaH,

(2) CaH, < BeH, <BaH,

(3) BeH, < CaH, <BaH,

(4) BaH,; < BeH, < CaH,

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

_ 182V - 15V
BrOy — BrO3 —— HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

1) Bry
(2) BrO,
3) BrO;
(4) HBrO
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82.

83.

84.

85.

86.

Tetaq srfifsran
MnO, +Cy0% + H* — > Mn2* + CO, + HyO

¥ fore wafera T % fore TR % T T
H

MnO; C,07~ H'
L 2 16 5
2) 2 5 16
3 16 5 2
4 5 16 2

srfufsran & f=fefaa & @ - g0 stfean 3ae
fmor & fo7u Iaeert 3,

Ay (g) + By (g) = X, (g)
3= d¥ U9 3 T

7 a9 wa = T
=1 a9 v 3= T

3= d9 g 1 T

AH=-XkJ?
1)
(2)
(3)
(4)

v Sifiehies Y IRfEe Tt g R S g,
S i srffshan & fog srd-srmy et

(1) o g @

(2) B[ 3

(3) 3TTYT BT B

(4) dfEfdd Ear 3

Xy, Yo 3R XY I 3wy foRlioH Histi & I
1:05:1 8 | XY % fmw & wdeht
AH = — 200 kJ mol™! & | X, # 31ae faem
ELll
(1)
(2)
(3)
(4)
amrest T wefieRtor H GEie Tk ‘o’ TEfid B
(1) T el & ger Iufedd foegq-aa &
(2) 7| 3Rl & AT |

(3) T A &% T F

(4) T8 R % HET RNV Tl

800 kJ mol
100 kJ mol™*
200 kJ mol
400 kJ mol !

82.

83.

84.

85.

86.

For the redox reaction
MnO; +Cy0%" + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 16 5
2 2 5 16
3 16 5 2
@ 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1) High temperature and high pressure
(2)
3

4)

Low temperature and low pressure
Low temperature and high pressure

High temperature and low pressure

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(D
(2)
3
4)

is tripled
is doubled
is halved

remains unchanged

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is —200 kJ mol ', The bond dissociation
energy of X, will be

(1) 800 kJ mol*
(2) 100 kJ mol*
(3) 200 kJ mol*
(4) 400 kJ mol™*

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1)

electric field present between the gas
molecules

(2)
3
(4)

volume of the gas molecules
density of the gas molecules

forces of attraction between the gas
molecules
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87.

88.

89.

90.

Fafafea wfefis w e Fifse :
CN*,CN~, NO da1 CN

390 O fhaehl S=au ey HIfe B 2
(1) CN*

(2) CN-

(3) NO

(4) CN

Y T o (X)) ¥ il e s e
Afies a2 1 A (X)) w1 Fam ofawem o
S fa=amd 1s? 252 2p3 B, @1 3@ Aifie &

T G R
(1) Mg,X
(2) MgX,
(3) Mgy,X,
(4) MggX,

ST T HH & a9 T bee TEAT & 2 | 900°C &
FW I8 fec TGEAT | qiiafda & St 8 | 3T % wm
% A 9T TFcd 1 900°C 19 W Hcd & 7T BT
(W <R 3T 1 Hiek geW Td TTY] B amg
% @y fer 8)

343
42

443
342

(D
(2)

3

(4)

fFr=fefiga @ @ =F-A1 $9 o@ew § 2
(1) N T T SAeIeh f=mE
1s2 2s2 2p)1( 2p}1, 2pi
PO LY

(2) TUH *eh dH Faren seet ¥ fafdy g s=fe

Th T H Th gL SR FEiCH HEAsT §
ﬁﬁ@%l
(3) ‘& HEh H Ioag 1 HAl Heh HIVIT HIAT
I % SR R |
(4)  d,2 % oI m 1 7 A 7 |

“m ol g

87.

88.

89.

90.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN*
(2) CN~
(3) NO
(4) CN

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 2¢2 2p3, the simplest

formula for this compound is

(1) MgyX
2 MgX,
(3) Mg,Xq
4) MggX,

Iron exhibits bce structure at room temperature.
Above 900°C, it transforms to fec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

33

42

3

(D

3

(2)

3

(4)

Which one is a wrong statement ?

o sla g

(1) The electronic configuration of N atom is
182 2%  2P; 2py 2p;
I RN AR

(2) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(3) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(4) The value of m for dZ2 is zero.
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91.

92.

93.

94.

95.

96.

97.

fored TeRTY-HYANl § StieESH 7g7 femerd! 2
(1) Gissg

(2) dTiecis

(3) W Tt SwifEn

4) &7

gren fe=m w2 2

(1) & R b hl Th 3 & 1Y Horzd

(2) T T IHh I G YT hrgehl oh 1Y T

(3) Uh W Tl % 1 W W w1 o o7ei &
Y HATH

(4) W TerRA N Freer

frafafga & @ S-a1 91gw yaw 6w Fifa & @y

T ke Ty quitan 2, forad 1 off th-ge % fo

AT e =15k U g7 R TR ?

(1) ok

(2) ZFH7
(38) &migen
(4) T

T HUT HT GEA W AN ok ¢ g Arseed # foRd

AU W HUSROT {3 T Fehal B 2

(1) -196°C

(2) -80°C

(3) -120°C

(4) -160°C

fefafga @ @ S99 o SRt § whifs s

TE % e ITRerRt 7 ?

(1) urefrm

(2) wifsTm

(3) A=fIEm

(4) Ffesrm

HIREHR Y96 § NAD* 3l ftrent #1 2 ?

1) g’gq.ﬁtﬁ. HAT % fofu Tk =fFerierse |
|

(2) IE T ST aTEh o &Y § HE HLAT B |

(3) % U T-ATgH o &9 § HRI T 2 |

(4) ggaamaﬁawézmaﬁnséaghm
|

UTedl g @18 1 STaRi fiefiRad § & TR w9 §

BT @ ?

(1) ¥Had a

(2) wE

(3) Wi

(4) it 3R B AT

91.

92.

93.

94.

95.

96.

97.

Oxygen is not produced during photosynthesis by

(1) Cycas

(2) Nostoc

(3) Green sulphur bacteria
(4) Chara

Double fertilization is

(1) Fusion of two male gametes with one egg

(2) Fusion of one male gamete with two polar
nuclei

(8) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1) Banana

(2)  Yucca
(3) Hydrilla
(4) Viola

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -196°C

(2) -80°C
(3) -120°C
(4) -160°C

Which of the following elements is responsible for
maintaining turgor in cells ?

(1) Potassium
(2)  Sodium

(3) Magnesium
(4) Calcium

What is the
respiration ?

role of NAD' in cellular

(1) TItis a nucleotide source for ATP synthesis.
(2) It functions as an electron carrier.
(3) It functions as an enzyme.

(4) Ttis the final electron acceptor for anaerobic
respiration.

In which of the following forms is iron absorbed
by plants ?

(1) Free element

(2) Ferrous

(8) Ferric

(4) Both ferric and ferrous
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98.

99.

100.

101.

102.

103.

e AEHH] § ..U % Th gohe o (avH & T
Freafafad 8 @ SF-a1 99 m=ra: Yg foR S
37
(1
(2)

A I

Ti wTfsHs

(8) AT (Y39 d13WH)

(4) pBR 322

qEUSE HHEERT IR WA g e o A 3Ek
A i foen AgFfa & SeEEeHl % ITEE hl F
g AT 8 ?

(1) S9-31qeed

(2) SIS (S EaT)

(3) Sa-3g=

(4) Sg-zmyor

s I % fofu TgafiRa: wuiaia Sial
Yo % SR § YT S GoAThd & (oI YR § shiA-Al
TS TR B 2

(1) 3Tafe gfETer sgEgm afufd (RCGM)

(2) ases wd SfEnfies rgEM afwg (CSIR)

(3) WRd TYfdeA rgHy™ aftyg (ICMR)
(4) STgafeR MR Yoars dfifd (GEAC)

Uit Sf@el AffRaT (PCR) § =R &1 6&l A
TR ?

(1) Torepdieto, fowa, swieH

(2)  oFie, foaeao, fospdieht

(3) fowawon, fospetentor, e

(4) Toepdieto, orfiem, foao

gt g 1 g

(1) A=, J= —  YTGHAY
(2) Fyx oUWl SHeh  —  fgoet shid
(3) TTESISITEH —  faeth
(4) . Hsw — B

e faesft =t g amed i Th 987 TR il U
(wehear) Toparm o o, Trarfy O fored wa A o wHy
g foemm € | ¥ fhae et 2 2

(1) | U

(2) e HERT

(3) Co-667

(4) STEHA

98.

99.

100.

101.

102.

103.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1)
(2)
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
3
(4)

A phage
Ti plasmid

Biodegradation

Biopiracy

Bio-infringement

Bioexploitation

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Research Committee on Genetic
Manipulation (RCGM)

(2) Council for Scientific and Industrial
Research (CSIR)

3
(4)

Indian Council of Medical Research (ICMR)

Genetic Engineering Appraisal Committee
(GEAC)

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
3
(4)

Denaturation, Extension, Annealing
Annealing, Extension, Denaturation
Extension, Denaturation, Annealing

Denaturation, Annealing, Extension

Select the correct match :

(1) T.H. Morgan -
(2) Fyx Recessive parent -
(3)
4)

Transduction
Dihybrid cross
Ribozyme — Nucleic acid

G. Mendel — Transformation

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(D)
(2)
6))
(4)

Lerma Rojo
Sharbati Sonora
Co-667

Basmati
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104.

105.

106.

107.

108.

109.

110.

ffafed 9 @ SF-M g 7o7w ¥4 ° gAfa 7 2
(1) XO e fom fafr @ feger

(2) ABO T g . HEYTeT

(3) WU H HS WRAW  : Wgfoehedl

(4) HAw=. qH ;T

g HY Hl T

(1) TATSHIET T 9T od 2 |

(2) ve it we fafesr dmfes gra foepfa femam e
o7 |

(8) “dgemar’ wise 1 Al Henferd Tewa 7 T |
(4) UTGHAYT Sl G TH. 3TeeH  F i off |
.U, % AedERet vfinfa w1 IR T eavem
ferai TiaT T o ?

(1) ue" H

(2) Sftamy §

(3) Hash A

(4) foump

frfafaa @ & foredt 3us Sfed o1t T Shaa Th a1
& I BT 8 ?

(1) ™

(2) hegd

(3) g wiisfiat

(4) Gdrar

‘Stiwited foreeh T ScuTfed &1d @ ?
(1) ANYFHHAT gra

(2) gt v gr

(3) gt fawrsH g

(4) AR g/

T GHel bl AT :

(1) ey Bced IR Th. WEd — 759 d2rad
(2) Ik &W M wgi =w - Al

(3) Toish IhE — BerpiH FHH
(4) THedTE Sehd qYT S TAHTS — oo AU
frafafea & @ 98w & e % w9 A
iferd s o wErEeh Hifed g3t ?

(1) dcfi= Fe=a

(2) AFAH AT F<: A

(3) I feRe

(4) TR

104.

105.

106.

107.

108.

109.

110.

Which of the following pairs is wrongly

matched ?

(1) XO type sex Grasshopper
determination

(2) ABO blood grouping Co-dominance

(8) Starch synthesis in pea Multiple alleles

(4) T.H. Morgan Linkage

Select the correct statement :

(1)
(2)

Spliceosomes take part in translation.
Punnett square was developed by a British
scientist.

3)
(4)

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Plant

(2) Bacterium

(3) Fungus

(4) Virus

Which of the following flowers only once in its
life-time ?

(1) Mango

(2) Jackfruit

(3) Bamboo species

(4) Papaya

Offsets are produced by
(1) Parthenocarpy

(2) Mitotic divisions

(3) Meiotic divisions

(4) Parthenogenesis
Select the correct match :
(1) Matthew Meselson

Franklin Stahl coined the term “linkage”.
Transduction was discovered by S. Altman.

Pisum sativum

and F. Stahl
(2) Alfred Hershey and - TMV
Martha Chase
(38) Alec Jeffreys — Streptococcus
pneumoniae

Francois Jacob and
Jacques Monod
Which of the following has proved helpful in
preserving pollen as fossils ?

(1
(2)
3)
(4)

4)

Lac operon

Oil content
Cellulosic intine
Pollenkitt
Sporopollenin
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111.

112.

113.

114.

115.

116.

Rt o T Sfim B 2

(1) TG i Bl o1l AT hl T

(2) S

(3) TR

(4) U AE™ U safsddi & A arell i T

foea ST foo@ e AT S @ 2

(1) 16 faamr

(2) 2130«

3) 534

(4) 2230a

frfafed 4 @ sF-w w gl T 2 2

(1) SO,

(2) CO,

(3) CO

(4) Og

Fepa w2 2

(1) dUHE T 98 YUE Sl Sid Wl @B % o
=1y

(2) g Hifees Tam & Uh SHaurd war @

(3) e & e d weft Jfees s

(4) UH S gr T T8 FEicAs qfFe, e 98
Tl @

frfafiga stiest & form g o1 witfeafadh fitfis

e femRm Sma 2
foeffore Suwierar : 120 g
Trrfires UM : 60 g
1t 3cUeeh : 10 g

(1) T = Hen flfis

2) St & e

(3) ST T e TR

(4) a1 Hur fRifrs

THaIHed W, W % fashdiewr e smfvas
e il fegfem @ fefafes @ @ e9-@ o=
3IUTH o ®9 T HIE KAl B ?

(1) Fe

2 Qa

(3) rEA

(4) 3w

111.

112.

113.

114.

115.

116.

Natality refers to
(1)
(2)
(3)
(4)

Number of individuals leaving the habitat
Birth rate
Death rate

Number of individuals entering a habitat

World Ozone Day is celebrated on

(1) 16t September

(2)
3

(4)
Which of the following is a secondary pollutant ?
(1) SOy

(2) COq

3 CO

(4) Og

Niche is

(1

215 April
5th June

2274 April

the range of temperature that the organism
needs to live

(2)
3

the physical space where an organism lives

all the biological factors in the organism’s
environment

4)

the functional role played by the organism
where it lives

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Primary consumer : 60 g

Primary producer : 10 g
(1)
(2)
(3)
(4)

Upright pyramid of numbers
Pyramid of energy
Inverted pyramid of biomass

Upright pyramid of biomass

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Fe
(2) Cl
(3) Carbon

(4) Oxygen
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117.

118.

119.

120.

121.

122,

123.

124.

IR & 1 Afreafireh HEicHs Jug HH-9 8 2
(1) ehETe 3T BiEhe
(2) eI 3 Afore
(3) wTESifead R ufoe

(4) eI 3 FESIF

frafafad § & H-a1 s qdehgehl 787 8 ?
(1) i

(2)  TTEHIGFIRTT

(3) d0aTsdis

(4)  sntERCIRET

et Tty fopmd v ot 2 2

(1) Shamed ¥ vae §

(2) @t gieerrsti & I

(3) ET 3T o IEA H

(4) U oA & dishor §

frafafgs © @ F9-91 T TH-GIANT H ThE

SANTshT T 3UTE 75T & ?

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

*fgs & forw Fafafga 4 @ F-m @t 2 2

(1) I8 d%h s+ | 9T a1 2 |

2) ug fufa Qoo war g |

3) fawifSra &t ifsreprati & o2 Ffs g 2 |

(4) I8 TEEEHA RNA G3avo &1 fshamsiia o
7

Yl ! iasfieral fhed gwTfed 737 Bl ?

(1) O, Higal &

(2) THWEH

(3) AUHH I

(4) CO, Tigdr &

I TS ORGET h1 JERU fohe TTEedT § 3
B 8 ?

(1) drTfsed

2 foug

(3) ¥Yug

(4) IHUg

o8 6 Iet § Ty R B 2
(1) AFIATHR

(2) JFRHR

(3) TIATHR

(4) TITHIHR

117.

118.

119.

120.

121.

122,

123.

124.

The two functional groups characteristic of
sugars are

(1)
(2)
3)
(4)
Which among the following is not a prokaryote ?
(1) Nostoc

(2) Mpycobacterium

3)
(4)
The Golgi complex participates in
(1)
(2)
3)
(4)

Which of the following is not a product of light
reaction of photosynthesis ?

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

Which of the following is true for nucleolus ?
(D)
(2)
(3)
(4)

carbonyl and phosphate
carbonyl and methyl
hydroxyl and methyl
carbonyl and hydroxyl

Saccharomyces
Oscillatoria

Respiration in bacteria
Formation of secretory vesicles
Fatty acid breakdown

Activation of amino acid

It takes part in spindle formation.

It is a membrane-bound structure.

Larger nucleoli are present in dividing cells.
It is a site for active ribosomal RNA
synthesis.

Stomatal movement is not affected by

(1)
(2)
3)
4)

The stage during which separation of the paired
homologous chromosomes begins is

(1)
(2)
3)
4)
Stomata in grass leaf are
(1)
(2)
3)
4)

Oy concentration
Light
Temperature

CO, concentration

Diakinesis
Diplotene
Pachytene
Zygotene

Rectangular
Kidney shaped
Dumb-bell shaped
Barrel shaped
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125.

126.

127.

128.

129.

130.

131.

fefowsht @ o fedioes Sgem 3tk vl ferad 3oud
B E 2

(1) <prSH

(2) HeEd Tl

(3) fiey favsan

(4) el fawsn

Y- fope Bt § 2

(1) wEmE wredl §

(2) TIAA-ICATTS STAIgIg §
(3) TR H

(4) SoHH e d

FEdt ufgai et gt § ?

(1) dehe

(2) iy

(3) dregce=n

(4) IT=dEcerE

Ig I1eY -4 § o Tt afg ot o foepa &
et ?
6))
(2)

NI

QU ATl

(3) "™

(4) HEheH

STehtehe, fehgeRT TITHUT & 2

(1) Hgem qa

(2) ITaETi qa

(3) ddr

(4) e

Fr=fefiga @ @ ®F-91 %9 &g ® 2

(1) TEeed gasist & |

(2) FRcfsder tw  fawmeiemy g @, SEfh
GodlfF7 T THSIST] o1 7 |
sEgasifort § e sverm fufd g ufeg
& B |

Grshg IR fFgg A1 H ATUNGAT o+ 3TemRad
BAE |

W%Wqﬁﬂﬁﬁz

(1) THOSH # ey Toi 3R @ T80 A h
AT € |

DADI T Y AT T B |

ekl 3R Ued ST % Heedt H hifvren fuf
39T Bt 8 |

AT B Bigrl @fi Sftasral i wifsesr &
FFARTRTC Teh WTHRTE & |

3

(4)

(2)
(3)

4)

125.

126.

127.

128.

129.

130.

131.

Secondary xylem and phloem in dicot stem are
produced by

(1) Phellogen

(2) Vascular cambium
(3)
(4)
Pneumatophores occur in
(1)
(2)
3)
4)
Casparian strips occur in
(1
(2)
3)
4)
Plants having little or no secondary growth are
(1)
(2)
3)
(4)
Sweet potato is a modified
(1)
(2)
3)
(4)

Apical meristems
Axillary meristems

Carnivorous plants
Free-floating hydrophytes
Halophytes

Submerged hydrophytes

Cortex
Pericycle
Epidermis

Endodermis

Conifers
Deciduous angiosperms
Grasses

Cycads

Tap root
Adventitious root
Stem

Rhizome

Which of the following statements is correct ?
(1)
(2)

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

3

Ovules are not enclosed by ovary wall in
gymnosperms.
(4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1)

Pseudopodia are locomotory and feeding
structures in Sporozoans.

(2)
3

Mushrooms belong to Basidiomycetes.

Cell wall is present in members of Fungi
and Plantae.

4)

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.
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132. ffafea § o forom

ERFEIGEEIE I CITIR
(1) OiR»g

(2)  TeERaT

(3) =pieanr

(4) @I

133. T I | & T2 Al o &R 11 <1 Hei & fyem hifse
I = for Tu fasmedt d @ @E? fawew w1 =

g qdl AT IS
9§ 399 21 7 ?

132.

133.

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Agaricus

(2) Alternaria

3)
4)

Neurospora
Saccharomyces

Match the items given in Column I with those in
Column II and select the correct option given

below :
X Column I Column 11
T 1 w7H4 1 a. Herbarium i. Itis aplace havinga
a. WU i il el SR ST collection of preserved
HUE 1 U TAM | plants and animals.
. . . A b.  Key ii.  Alist that enumerates
b. W i, U & e T wf methodically all the
1 fafe @ T g 31 species found in an area
3'; 1 TET 1 grmAdT % fere with brief description
e aui Hid §C TH g | aiding identification.
¢ UG iil.  UHT T Jal 9ied :|1:Eﬁ I c.  Museum iii. Is a place where dried and
T 3N == T W pressed plant specimens
SRR T TE@T S R | mounted on sheets are
kept.
d. TuEd iv. U gfeaen faad e s g d. Catalogue iv. A booklet containing a list
(ﬁTe.'lE'T"T) 3T 3ok foehed g1 & S of characters and their
fofir antent bl vg=ma @ | alternates which are
T Bd & | helpful in identification of
a b c d various taxa.
D i iv i i a b ¢ d
@ i i i v 5 v
3 . e (2) iii ii i iv
4 1 %V ?11 11 3 i iv iii ii
@ u Lo 4) i v i i
134. TUeT TR fohed BId § ?
(1) =19 134. Winged pollen grains are present in
@) aEHd (1) Mango
X (2) Cycas
@) (3) Mustard
4) : (4) Pinus
135. f=fcifed & @ SH-91 777 &9 § goford g ?
35 ’ ) g 135. Which one is wrongly matched ?
(1) S e - T (1) Gemma cups — Marchantia
(2)  fomemis =eefis T - ’ﬁ EI (2) Biflagellate zoospores — Brown algae
(3) UHHINH JHH —  qiTEEEIAT (8) Uniflagellate gametes — Polysiphonia
(4) UehehIfyTeh Siia - FARAT (4) Unicellular organism — Chlorella
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136.

137.

138.

f=fefiga & @ w-an ey s @t R araehifa
T el i 2 Wi Ifd ®9 § ewidl B ?

(1) vau! Tag § 3tfrekar; yaafe & sy

(2) voEfeT hI G § Aftehdr; O Hag |
ferehdn

(3) va@feRt § SNY; Y9E Hag § !

(4) vIE T8 § HHY; TEEeR § WY

ey 18 &) 78 9el o w11 ) ge 8 fiam hifse
IR = few MU fowmewt § @ @E? fomew w1 W

HINT

T 1 Eary 11
a. oo suae i, < 3rfere wa 9 e
% o=
b. e wuwe ii.  afe e e g
a6 o=
c. Adug wUH i, erfed stfere wa @A
e & =
a b c
1) i 11 111
2 1 11l 11
(3) 1i i 11
4) 11 i i1

ey 18 & 78 93 o ey 11 gel § fiam ifde
IR fo few MU fowmewi 4 @ @E? fawew w1 W

T

Ty [
a. AN IFAA i.
b. JaTEEd giaa i

TEy 11
2500 — 3000 . <.
1100 — 1200 fir.=f.

AT

c. Tr:vawa gfem iii. 500 — 550 fir.<ft.
AT

d. 3rafyrse e iv. 1000 — 1100 fir.<ft.
a b c d

1 i iv ii iii

(2) iii i iv ii

(3) iii ii i iv

4) iv iii ii i

136.

137.

138.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Increased respiratory  surface;
Inflammation of bronchioles

(2) Increased number of bronchioles; Increased
respiratory surface

(3) Inflammation of bronchioles; Decreased
respiratory surface

(4) Decreased respiratory surface;

Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 11

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1 i ii iii

2 i iii ii

(3) it i ii

4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I1

a. Tidal volume i. 2500 — 3000 mL

b. Inspiratory Reserve ii. 1100 — 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
a1 i iv ii iii
(2) i i iv ii
(3) iii ii i iv
4) iv iii ii i
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139. UHa 97 H UResfl oo fohdsh g 39 T W T |139. The transparent lens in the human eye is held in
22 its place by

(1) omehe & 9 feed AR g (1) smooth muscles attached to the iris
N - (2) ligaments attached to the iris
@ I T g (3) ligaments attached to the ciliary body
(3) WEHTH HR & I3 Y3 g (4) smooth muscles attached to the ciliary body

(4) UEAY HE A e foet AR gra
140. Which of the following is an amino acid derived

140. frfafed & & H-a1 g T o & oo B hormone ?

3? (1) Estradiol

(1) TSt (2) Ecdysone

(2) TUHSTEHH (3) Epinephrine

(3) TfUHH (4) Estriol

@) @W 141. Which of the following hormones can play a

significant role in osteoporosis ?

141. f=fafea 4 @ fra g 1 sifgina ¥ ge (1) Estrogen and Parathyroid hormone
’ﬂﬁqﬂ 29 (2) Progesterone and Aldosterone

. . . (3) Aldosterone and Prolactin
(1) UEISH U GATsiss &HH
(2) TISRETH U UeeRel
(3) Q@?«%ﬁ'—[ QEI TretfFeq 142. Which of the following structures or regions is
.. . incorrectly paired with its function ?
(4) AeTsizs WA @ Nafaeed

(4) Parathyroid hormone and Prolactin

(1) Hypothalamus :  production of
. . . releasing hormones
142. ﬁmﬁf\@ﬁ ﬁ -g El”ﬁq—Fﬁ WTQ’ YT ?3_3[ 3'{:@'7 EFI'QC -g and regulation of
7T 9 8 RIEG] 22 temperature,

e . hunger and thirst.
(1) wEWdcmE  : fadied giEHl %1 3cuTed T

(2) Limbic system :  consists of fibre
. S T tracts that
Frmor & | interconnect
. . .~ different regions of
(2)  fotforep T : dgett b ésr St A H ® brain; controls
%ﬁﬁ% &l 1 9 H Sred movement.
; T Rt T T |
(3) Medulla oblongata : controls respiration
(3) WA AN : YU Ud ged qRE=Hl gt and cardiovascular
F1 Frifd we | reflexes.
e e . wi¢ v =g e . (4) Corpuscallosum : band of fibers
4) ¢ ST T <0 o e connecting left and
! Sigd a1l g3t i ug | right cerebral
hemispheres.
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143. TR yu i Yo gt soa foRwE St @ 2
(1) HEASER T q9hR
(2) IaEcadT Td HEISEal
(3) Telca=l Ud el
(4) TRl Ud IdEca=l

144, TTHA 1 ST WH & T T90 HH-H WH aifad
HAA B ?
(1) hCG, hPL, SRS, TESH
(2) hCG, hPL, &g, ffedm, srifFaeitem
(3) hCG, hPL, YSRecH, Sctfaed
(4) hCG, TSIEISH, TESH, ThIh ehIse

145. IHIVSHA T RV (Tafifuem) & & o= 8 2

(1) IERIUSHA § SRS W1 Herell shifmepisti &
ehoeh AfTRIST 1 TfgeRT § HEM Bl g,
Selfeh EHIIEH H YEH1Y] &4 3 |

(2) YU H YRV S0, e JEEE §
HINY &4 3

(3) YHNS H YR A 8, SR Y A
Y] A T |

(4) TS A R G €, Felh YRR H
RS H HA  HINERST W YHh
AfereRIstt 1 ekt | A a1 3 |

146. mifue TRt

(1) THIUDR |

(2) Rl # TENH Al "igdl @l Sl g Ul
JTEreaT i Ushd! 2 |

(3) TS § TECSH UTEl 1 3Ta%g hidl & Ud 7Sl
% TT hl Tehell B |

(4) UH grE-Ay mifRgs 7 |

143.

144.

145.

146.

The amnion of mammalian embryo is derived

from

(1) mesoderm and trophoblast
(2) endoderm and mesoderm
(3) ectoderm and mesoderm
(4) ectoderm and endoderm

Hormones secreted by the placenta to maintain

pregnancy are

(1) hCG, hPL, progestogens, estrogens

(2) hCG, hPL, estrogens, relaxin, oxytocin

(3)  hCG, hPL, progestogens, prolactin

(4) hCG, progestogens, estrogens,
glucocorticoids

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatozoa from sertoli
cells are released into the cavity of
seminiferous tubules, while in spermiation
spermatozoa are formed.

(2) In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formed.

(3) In spermiogenesis spermatids are formed,
while in spermiation spermatozoa are
formed.

(4) In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

The contraceptive ‘SAHELTI

(1) 1isan IUD.

(2) increases the concentration of estrogen and
prevents ovulation in females.

(3) blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(4) 1is a post-coital contraceptive.
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147.

148.

149.

150.

151.

152.

fafereea o= @it wirteHl & form bR fir § 2

(1) 3 IR =1 Tehed & T Urery <1 =0 Hd 8
(2) T Afaferd a1 febe & fore dgemsiea
gTft it B

3 T % foTT Henfirent 1 Y= w3

0 21 TR % g B 8

FRGh! TG b I Sl hl TgaH HIGT ST 3T
e 7 ° i ud fee g erfvrafera § |

(D wdie

(2) fen

(3) ufrpfern
(4) orifecsefia

frafafaa & & ®F-9 Fg9 | Hiwt= i T8aH A
Hichid & A 8 ?

(1
(2)
(3)

3
4)

TR e 3Ase dled 3 9@

=5 I ol Sufefd

fid I @ W AT & AR <kl Uy i
3uferfa

(4) TEEm 1 SurEf

Frefafaa 8 @ wF-51 9= THardt 777 2 2

(1) g

(2) @

(3) #wma

4) g

Frafafad S=get 8 & SF-8 S+ FrRE 787w 2
(1 ="

(2) Hfhe

(3) g
(4) TRGN

Frafafea & @ -9 9 qg@rRl § g&T 3caEs 5
®q H S Q8 2

(1)
(2)
3)
4)

147.

148.

149.

150.

151.

152.

Ciliates differ from all other protozoans in
(1)
(2)

using pseudopodia for capturing prey

having a contractile vacuole for removing
excess water

6))
(4)

using flagella for locomotion

having two types of nuclei

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1)
(2)
6))
4)

Aves
Reptilia
Amphibia
Osteichthyes

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(D
(2)
3

Forewings with darker tegmina

Presence of caudal styles

Presence of a boat shaped sternum on the
9" abdominal segment

Presence of anal cerci

4)

Which one
homeotherm ?

(D
(2)
3
4)

of these animals is not a

Camelus
Chelone
Macropus

Psittacula

Which of the following animals does not undergo
metamorphosis ?

(1) Moth

(2) Tunicate
3)
(4)

Earthworm
Starfish

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
3
4)

Cyanobacteria
Diatoms
Dinoflagellates
Euglenoids
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153.

154.

155.

156.

157.

frefefiga & @ fafercan fasie 4 wfdsfass & 3cure
fou e 6t - o fhan sgar W
Tt B ?

(1) YEeiiferar
(2) FEIRINET
(3) @@WIRsHa
(4) TSR

frefafaa @ & sH-w1 ‘STerea™ weor § 737 3T ?

(1) aEafdeh 3T

(2) fed 3qaq

(3) T-Sftg THRY Uk
(4) 9 d&

TR [ 8§ <) 78 "l o1 &avy 11 <l Hel 8§ fiem dhifse
R = feu U fowedi § @ &g fawew =1 =T

HIT

&ary [ &aryy I1

a.  gaS i. UV-B fafero

b. afed defhra i, S

c. Temrad (VN s@EeAE) il 9N TTG

d. FuEd iv. Tufsme faem
a b c d

(1) i v i ii

2) i iii iv ii

(3) ii i iii iv

4) i ii iv iii

T <1 I FEdl g5 e o

(1) g™ T Sqd eafe gen H el B
g

(2) SHH SAfSe SR SAfsedi | 9 BId & |

(3) MY AT e el 8 e 8 3 |

(4) Y A Fgm SAfseai | %7 8 # |

“Tiep” Tk T GIEdT WY % fRE W § wTed Bt R 2

(1) Feia
(2) T
(3) FAI "
(4) Ui @

153.

154.

155.

156.

157.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Parasitism

(2) Mutualism

(3) Commensalism

(4) Amensalism

All of the following are included in ‘Ex-situ

conservation’ except

(1) Botanical gardens
(2) Sacred groves

(3) Wildlife safari parks
(4) Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment
d. Jhum cultivation iv. Waste disposal
a b c d
(1) iii iv i ii
(2 i iii iv ii
3 ii i iii iv
4 i ii iv iii

In a growing population of a country,

(1) reproductive and pre-reproductive
individuals are equal in number.

(2) reproductive individuals are less than the
post-reproductive individuals.

(8) pre-reproductive individuals are more than
the reproductive individuals.

(4) pre-reproductive individuals are less than

the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Roots
(2) Latex
(3) Flowers
(4) Leaves
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158.

159.

160.

161.

T O HIF-HT T 1 9T 7gT 8 2
(1) TERR

(2) HTEATHS (4

(3) Ydicish

(4) AR

T Tt % T X EE H X-Her G B | I8 VR
foptl ST e 2

(1) haet Srar-aif= /Ardt-rte o

(2) had A G

(3) haw g °

(4) i ud gRRI gHl §

M & i & gEr fowm i frafafy fora yer
Bt 7 2

(1) <iffeh goa w&9 aitEdd (aegoredt fafimar)
(2) deH

(3) W g IcaradH

(4) Y IcNEdA

T S & HIfET =9 H A AGGTATCGCAT 2 |
3% g Iifad mRNA 1 Geferd b o1 2 2

158.

159.

160.

161.

All of the following are part of an operon except
(1)
(2)
3)

an enhancer
structural genes

an operator

(4) apromoter

A woman has an X-linked condition on one of her
X chromosomes. This chromosome can be
inherited by

(1)  Only grandchildren

(2) Only sons

(3)  Only daughters

(4) Both sons and daughters

According to Hugo de Vries, the mechanism of
evolution is

(1
(2)
(3)
(4)
AGGTATCGCAT is a sequence from the coding

strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

Phenotypic variations
Saltation
Multiple step mutations

Minor mutations

(1) ACCUAUGCGAU (1) ACCUAUGCGAU
(2) UGGTUTCGCAT (2)  UGGTUTCGCAT
(3) AGGUAUCGCAU (3)  AGGUAUCGCAU
(4) UCCAUAGCGUA (4)  UCCAUAGCGUA
162. T 1 3 4 718 wel w1 T 11 6 0a @ free fif 162. Match the items given in Column I wit}? thos'e in
e R e I R geoll(w:lvin:n IT and select the correct option given
It Column I Column I
&TFT 7= 11 a.  Proliferative Phase i. Breakdown of
a.  JGUGHIA JTGwAT i, TR 3Td:TR 1 foeed Ei?zgletrial
b. @t R i, GehR SR b.  Secretory Phase ii. Follicular Phase
c. k4@l iii. drafive sraEen c.  Menstruation iii. Luteal Phase
a b c a b c
1 i iii i 1 1 iii i
(2) i iii il @2 1 iii ii
(3) iii ii i (3) il ii i
(4) iii i ii (4) ii i ii
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163. T I | < T8 Hel 1 vy I h1 7el ¥ fyem Hifse

IR f= feu U fowmewi § @ @E? fawmew w1 =
Hifsa :

T7ry 1

a. ’E’Bﬂﬁﬁ@ﬂ 1.

Ty I1
Siret ® Ffeh T H
HIE BT

b. T ii. g § fopeefera ol <
fiug
c. gFhE gl iii. TS H Ygrgehdl

iv. I3 | R 1 B

a b c d
1) i iii i iv
(2) i ii iii iv
(3) iii ii iv i
4) iv i ii iii

164. T 1 H <1 T8 Hel 1 vy 11 h1 7el ¥ fyema Hifse

IR fo few MU fowmewi § @ @E? fawew w1 WA
i

TTFy 1
(Fr)

a. offoged Feed i
b. T T HGW ii.

&y 11
(3eqT T BT I7)

T T
TaTteft

c. TIAH AWEA  iii. TERE
d. I IR iv. BeTdnft SRt
v. |HaeY Hafad Jfetest
a b c d
1 v iv i ii
(2) iv i ii iii
3) iv v ii ii
4) v iv i iii

163.

164.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
(1) i iii i iv
2 1 ii iii iv
(3) iii ii iv i
4) iv i ii iii

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column 11
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b.  Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
1 v iv i ii
(2) iv i ii iii
3) iv v ii iii

4) v iv i iii
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165.

166.

167.

168.

ffafga 3 @ FR-H ot FIfvEN s w9 9§
TSt H Heg Rl & ?

(1) e (Msete) HIfeh1g

(2)  TeISHT SHIfThTE

(3) &I SRR

(4) foreia ifdreRnd

ey 18 &) 78 9el o &ard 11 ) 9e 8 faam hifse
IR = few MU fowmewt § @ @E? famew w1 W

HIT

&Y [ T 11

a.  EIEsHSH i RO HqeH

b. TG ii. TR Yerehl

c. UeeE iii. i fpartafy
a b c

1 i iii ii

2) i ii iii

(3) iii i i

4) i ii i

fafafad # 9 saaEie sauq R 1 Ieswr w0
2?

(1) wigfasa

(2) Tafererma

(3) USIE

(4) aTaEhIfd

hehTel USf Hepad | hicyrm Hewaqul 8 it I8

(1) e ag & arnfe o 1 ot o+ gaT # |

(2) AERE T & sust 38 fpamefia s @ |

(3) IR & doet Ufaed & Tfsha ToId & TR0
I g1 31 2 AT % ferw |

(4) TEIRGE | ¥ W UFed dg & AT AWy

fmtor 1 Tehat @ |

165.

166.

167.

168.

Which of the following gastric cells indirectly

help in erythropoiesis ?

(1) Goblet cells
(2) Mucous cells
(3) Chief cells
(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

1 i iii ii

(2) i ii iii

(3) iii ii i

4) i iii i

Which of the following

respiratory disorder ?

is an occupational

(1) Botulism

(2) Silicosis

(3) Anthracis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(1) detaches the myosin head from the actin
filament.

(2) activates the myosin ATPase by binding to
it.

(3) binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between

the myosin cross bridges and the actin
filament.
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169.

170.

171.

172.

173.

174.

et % fuvs gera: fores a4 310 8 2
(1) —fees 37 g SER

(2) DNATE RNA

(3) WA e fafrs

(4) Y& TsaE™ TS RER

TH § SH-A1 HIH TAT & ?

(1) TTgHITATHE qel T BT & ST b 30 BIgSIoH
TEATST 1 I3M % [T NAD fHerdr & g |
TATGHITATIH hHIEhITd § H9e Bl & |

TCA <5 o USITSH Goh[UehT o TERT § feord
B 3 |

TR0l HICHINCRUT AR T oTeT
i dafedaaar 2 |

(2)
3

(4)

Terd e w1 =9e il

(1) 3YHeehyl TURE — L-3AThRI TURE

(2) TaEm — fom o

(3) ofugw RE - foue & gl

(4) wEUER EE - UfFRRAl % 3TSh
frafafga @ @ ®H-8 ifys see qHa gdfa=ms

! i Hid & ?

(1) dTedcdt, TeharGdl, Jaadt
(2) g, feamadt, fomwedt
(8) e, foamad, T
(4) e, foamedt, fosmgdt
% USrafsHs (egpem (RER) # f=fafea # @
HH-H T FFT Bt ?

(1) Hhd UCIsE T fageH
(2)  TIEH I TATSHIHAZH
(3) IEH i I

(4) HIEHIATS TIATO

g0 ¥ UEEM TH mRNA ¥ @9 B THA
uifeierse 1 3 gl s @ | UseEm sh UE

@S ! 1 FEd @ ?
(1) wereesm

(2) wgae fug

(3) =&

(4) higw™

169.

170.

171.

172,

173.

174.

Nissl bodies are mainly composed of
(1) Nucleic acids and SER

(2) DNA and RNA

(3) Proteins and lipids

(4)

Free ribosomes and RER

Which of these statements is incorrect ?

(D

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(2)
3

Glycolysis occurs in cytosol.

Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in

outer mitochondrial membrane.

Select the incorrect match :

(1) Submetacentric — L-shaped chromososmes
chromosomes

(2) Allosomes — Sex chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Which of the following terms describe human
dentition ?

(D
(2)
3
(4)

Pleurodont, Monophyodont, Homodont
Thecodont, Diphyodont, Heterodont
Thecodont, Diphyodont, Homodont
Pleurodont, Diphyodont, Heterodont

Which of the following events does not occur in
rough endoplasmic reticulum ?

(D
(2)
3
(4)

Cleavage of signal peptide

Protein glycosylation

Protein folding

Phospholipid synthesis

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(D)
(2)
3
4)

Plastidome
Polyhedral bodies
Polysome

Nucleosome
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175.

176.

171.

178.

179.

180.

fre U H Test g Gafd T % RROT oTEteRT
arfefa § feeprelt Y Icaw gar 8 2

(1) forad o

(2) UEhRUfE"

(3) ufchi~eufim

(4) omhfoufm

Freafafaa § @ si-an saufaen v 757 2 2

(1) TASTEH I

(2) ®uA Afersmy

(3) wiufE
(4) fafefam

Fr=fefea et o™ & el U § 7e7d fashed
T T HITT :

(1) <HTEE, AT T <fidl 1 feash

(2) =ES, HIMd Ud Hidl 1 ged

(3) HMd, TS T =IdT o WIS

(4) AR, TTCS Td HH hl TG

39 % T W FARU U TEH TS| UNh  EHAT
forehl gfg o RO Biet B 2

(1) feeIftd By,

2) foafm A

(3) faarftm D

(4) foafim E

3 HIATH o IWUE h! I AT T HHEAT
foperehT g8 @ ?

(1) I o

(2) qeueual

(3) EHSITddT

(4) oTgepatt fafertor

Freafafaa siftraeett 4 @ H9-8 a7s7 7 Sfm ant &
ERIECA R

TTferar

FggHTferar

EREGNIS]

1ot wTferan

REEIRIERIIE

b,dTd e

a,b@c

b,cQ_Oie

a,c@e

°© po TP

(1)
(2)
3
4)

175.

176.

177.

178.

179.

180.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(D
(2)
6))
(4)

Ringworm disease
Ascariasis
Elephantiasis
Amoebiasis

Which of the following is not an autoimmune
disease ?

(1) Alzheimer’s disease

(2) Rheumatoid arthritis

(3) Psoriasis

(4) Vitiligo

Among the following sets of examples for

divergent evolution, select the incorrect option :

(D

Brain of bat, man and cheetah

(2) Heart of bat, man and cheetah

(3) Forelimbs of man, bat and cheetah

(4) Eye of octopus, bat and man

Conversion of milk to curd improves its

nutritional value by increasing the amount of

(1) Vitamin By,

(2) Vitamin A
(3) Vitamin D
(4) Vitamin E
The similarity of bone structure in the forelimbs

of many vertebrates is an example of

(1) Convergent evolution

(2) Analogy

(3) Homology

(4) Adaptive radiation

Which of the following characteristics represent

‘Inheritance of blood groups’ in humans ?
a. Dominance
Co-dominance

b

c.  Multiple allele

d Incomplete dominance
e

Polygenic inheritance

(D)

b,d and e
(2) a,bandc
3) b,cande
(4) a,cande
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[Aeferaa 13351 &am7 & g -

1. I8 IH W Yo wheneff, fleres w1 o1
SENRERECI

9. efer o1 Frles i foui orqufa = fomm
T gieqrelf 39T T 9 BiS |

3. HrENG e 1 3o IR 97 fou fomn @@
Jufeufa.oas W gam gEarer fope fomm i
wienedl wlen g & oen | Aty T
Tigreff 7 gEd OR SuteafauEmes W
TEAER T Tohy A1 9 Wi e R S
3T U A& AT § SR Ig Araa aned
T WTHSAT HIAT TG |

e o o [N«
4. SAFCIHh/[ETHTAd TleheTeh bl IUINT JIS(d

2 |

5. JOeTE | =R o foru ghemeff udem <
fmi e fafEm g feia 8 1 sgRa
e o Gfi el w1 %Een 3| wie &
fremi wa fafemi o orgam g |

6. Torelt off g o wem gieaeht TR S W
T g W AT 7 . |

7. 9 gieashr3R U # feu mu uhen gicae
Toha bl wdierefi wEt aleh & Iufedfa.ose
ford |

Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as
per Rules and Regulations of this
examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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